
   
 

 

 

 

 

 

Klíčová aktivita:  II/2 Inovace a zkvalitnění výuky směřující k rozvoji výuky  

cizích jazyků 

 

Jazyk a jazyková komunikace     č. 51 Anglický jazyk 

 

The present continuous tense II 

 

Correct the sentences, use short forms 

Example: 

Jane is playing tennis. 

She isn’t playing tennis. 

She’s playing basketball. 

 

1) Tom is having dinner.  2) The boys are going to the cinema.  

........................................................... ........................................................... 

........................................................... ........................................................... 

 

3) Helen is reading a magazine. 4) My parents are sitting on the sofa. 

........................................................... ........................................................... 

........................................................... ........................................................... 

 

Make questions and answers 

Examples: 

Katy / do homework ✔ Tom / play tennis ✖ 

Is Katy doing homework? Yes, she is. Is Tom playing tennis? No, he isn’t. 

 

1) Mr Black / clean his teeth ✔ 2) They / dance ✖ 

........................................................... ........................................................... 

 



 

3) Peter / get up at six o’clock ✖ 4) I / write a letter ✔ 

........................................................... ........................................................... 

 

5) Ann / listen to the radio ✔ 6) The girls / swim ✖ 

........................................................... ........................................................... 
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